
CM-FKP65
Commander and Maverick 

6.5” Speaker Front Kick PanelsSSV WORKS, 201 N. Rice Ave Unit A, Oxnard, CA 93030
www.SSVworks.com     |     Phone: 818-991-1778     |     Fax: 866-293-6751

!
Please read and understand these 
instructions completely before 
installation to avoid possible injury, or 
damage to the accessory or vehicle. 

WARRANTY INFORMATION:
All SSV Works enclosures are covered by a limited lifetime warranty against defects 
in material or workmanship. All SSV Works Electronics are covered by a limited 1 year 
warranty against defects in material or workmanship. All SSV Works Speakers are 
covered by a limited 1 year warranty against defects in material or workmanship. Labor 
for replacement of defective components is not covered. Contact SSV Works for further 
warranty information.

1.	 CM2-FKP65-U Enclosures  (1 pair)

2.	 1/4” x 20 Allen Bolt x 6

TOOLS NEEDED FOR INSTALLATION

INSTALLATION NOTES

PARTS LIST

PARTS LIST IMAGES

3.	 1/4” Washers x 6

4.	 1/4” Nut x 6

The use of a thread locker is recommended on all screws to prevent loosening due to vibration. Sealing all wiring holes with a silicone sealer will 
prevent moisture from entering the enclosure.  The glove box does not need to be removed for Kick panel installation; ours was removed for photo 
purposes only.

2.   1/4 x 20 Allen Bolt x 61.    CM2-FKP65-U  Enclosures  
(1 pair)

3.   1/4” Washers x 6 4.   1/4” Nut x 6

-Wire Crimpers

-	Wire Strippers

-	5/32 Allen Wrench

-	7/16” Open End Wrench

-	Drill with 1/8” and ¼” Drill bit

-	#2 Phillips Screwdriver

-	T-30 Torx wrench

-	Scribe or Marker



C. Drill a 1/4” hole in the enclosure for the speaker wire to run out 
of, we recommend the flat side toward the top of the enclosure.

D. Mount the enclosure into the vehicle using the supplied 
hardware, putting the nut on the inside of the enclosure is 
recommended. Removing the 4 - T-30 Torx along the side of 
the vehicle will make this step easier.

E. Place the speaker into the enclosure and mark the 4 mounting holes with a 
scribe or marker, Pre-drill the marked mounting locations using a 1/8” drill bit.

B. After marking the holes, drill the mounting holes with the 
1/4” drill.

CM-FKP65

C D

B

A. Align the kick panel above the foot rest and flush against the 
firewall and outside of the vehicle (under the glove box on the 
passenger side & mid way up the firewall on the driver side); 
the enclosure is in the correct mounting location when it sits 
flush on all sides. Using a scribe mark the 3 mounting holes. 

A

E E



F. Connect and install the speaker into the enclosure using the #2 Phillips screwdriver (be sure to connect the “+” speaker wire to the 
“+” terminal on the speaker and the “-“ speaker wire to the “-“ terminal on the speaker), repeat for other side.

CM-FKP65

F F

G

WIRING INSTRUCTIONS

For proper sound, ensure the speaker polarity is correct connect the “+” to the “+” and the “-“to the “-“from the speaker wire to the amplifier.  If using with 
an SSV Works complete system refer to the amplifier wiring instructions for more detailed wiring information.

“+”

“+”

“+”

“+”

“-”

“-”

“-”

“-”

Amplifier

© 2017 SSV Works, Oxnard, CA 93030        CM-FKP65    Rev. B    4-10-17

G. Route the speaker wire away from any moving parts and any 
sharp metal, then connect to the amplifier.


